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K *H FNE BRRLS BRES X
+=5 FESITERE BT TCERAER T 4 480 478 106076 | JCtksy
+=F PEE HT TCER AR 4 476 468 117339 | JCfksy
Z=H TR gt BT JCERAEF 4 482 477 107168 Likdr
+=F BEIE BT TCER AR 4 477 476 108248 | JCfksy
+=5 Lz BT TCERAER T 4 480 468 117339 | Ctksy
+=F HETEETZ HT TCER AR 4 471 470 115028 |  JCfksy
R | IEEHsERES® BT TCERAER T 4 485 478 106076 | JCtksy
F5 B3hik BT JCERER 4 480 477 107168 | 3Cfrsr
E7 TATHE BT TCERAER T 4 476 475 109341 XAy
+=F ERF HT TCER AR 5 471 467 118486 |  JCfksy
E7 THEEE BT TCERAER T 4 476 475 109341 XAy
+=F =E E JCERER 4 495 493 26312 Ay
+=5 EE BT TCERAER T 4 469 468 117339 | Ctksy
E=H EEEREE x® JCERER 4 497 496 24968 Xikdr
+=5 = BT TCERAER T 4 478 475 109341 XAy
+=F == E JCERER 4 497 495 25413 Ay
+=5 THEE xE TCERAER T 4 494 493 26312 XAy
+=F TS ENEE E JCERER 4 491 491 27217 Ay
E7 HESLE X CERER T 4 499 498 24085 Likdr
+=F PEHE XE TCER AR 4 493 492 26739 Ay
p. RrF L TE CERAR H 4 495 492 26739 pEiSy
=7 HLBATHE BT TCER AR 4 481 477 107168 Xikdr
E7 BTRESHA BT CERER T 4 484 478 106076 | ICfkdy
x5l &1 TiE BT CERAR 4 480 477 107168 Xksr
7 THEE BT SCEREFR T 4 478 469 116181 kg
£7L HENREEER ET WERER T 4 481 481 102681 | 3Cfksy
=3 | HERLHESTE BT TCERAER T 4 75 472 112822 |  ICfkS
+=F SiF HT TCER AR 4 479 479 104923 | JCfksy
=3 | EEELRESEA BT TCERAER T 4 474 473 116181 XAy
=7 RIRgrit# g TN 4 488 484 65387 Ay
E7 BEIR PEE TEEARHET 4 503 404 59027 Likdr
+=F HETFE s TN 4 494 482 66613 Ay
E7 Bt g TEEARHET 4 471 471 73813 Xty
R | HEERERE sk i TN 4 506 489 62162 Ay
Z# | RUEGRESI PEE TEEARHET 4 490 483 65983 Tiesy
F5 R THE P TERARE 4 501 498 56616 ks
E7 THEH g TEEARHET 4 487 487 63399 Xty
+=F = g TN 4 493 486 64084 Ay
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+=5 DUEEE P TEEARHET 4 507 507 12033 XAy
+=F Hi& P TN 4 506 505 12211 Ay
+=5 = P TEEARHET 4 507 506 12406 XAy
3 | EHERVHESTE i TN 4 482 480 67887 Ay
E7 HarEEE PrEE TEEARHET 4 483 483 65983 Likdr
+=F s HT FR _fEEE 4 395 394 52900 Ay
+=5 Bt BT R —HEEE 4 355 351 76962 XAy
E=H Tkt BT AR EECE 4 400 388 56155 kS
+=5 EEF BT R —HEEE 5 387 385 57808 XAy
T mHEH BT A R EEIGE 4 384 351 76962 Ay
&7 ik oo nE FRTHeEENE 4 481 479 9366 Xty
=7 PEHE x5 F3 —fHEECE 4 479 479 9366 Xikdr
Z=H MEATLE BT R THEECE 4 395 394 52900 Ty
E=H WEFXE x5 AR EECE 4 488 482 8738 kS
Z=H == sl R THEECE 4 483 481 8952 Ty
R | HEERERE sk PEE ERALR 4 507 502 139825 |  JCfksy
+=5 =E P IR 4 503 498 41391 XAy
=7 SiF PEE AR 4 501 500 142703 | JCfk4y
E7 THEH g AR 4 496 496 148593 | k4
=7 PEHE P AR 4 503 500 40074 Xtk
+=5 DUEEE P IR 4 508 503 38143 XAy
+=F Hi& P FFHER 4 520 502 38755 Ay
E7 TATHE PEE FRALR 4 500 496 148593 | JCtkdy
+=F THEE g ERALR 4 501 497 147046 | JCfksy
3| EFELEESTR g AR 4 499 497 147046 | ZCikdy
=7 BTRESEAR HT EREH 4 437 430 78993 Xikdr
Z=H PEE BT AREH 4 437 421 85839 Ty
3 | eBEERESIE BT R ETH 4 436 432 77539 Ay
+=5 EF2H585 - FRIE 4 513 512 16495 XAy
E=H RIRgrit# HT EREH 4 429 427 81238 Xikdr
E7 FESITERE BT ERE_H#H 4 436 435 75364 Likdr
+=F HETEETZ HT R ETH 4 431 427 81238 Ay
Z=H th= BT AREH 4 470 430 78993 Ty
E=H EETE BT ARE 4 453 439 72348 kS
Z=H HETE BT AREH 4 427 425 82722 Ty
=7 EHIRLFE BT ERETH 4 448 433 76833 Xtk
=3 | HERLHESTE BT FREH 4 424 424 83494 Xty
+=F b4 HT R ETH 4 439 423 84272 Ay
F=3 gzhit ET ERIE 4 435 429 79711 iksy
E=H Tkt BT ARE 4 430 421 85839 kS
Z=H TAHEEEESIE BT AREH 4 427 420 86617 Ty




ZF | NEETRERESSE BT ARE 4 452 433 76833 kS
E7 mTRESTE BT FRE 4 424 420 86617 Xty
=7 EYRE S5k HT EREH 4 470 462 56770 Xikdr
Z=H ITREEE BT AREH 4 422 421 85839 Ty
T ERF HT FRE 5 425 424 83494 Ay
Z=H TARITE BT AREH 4 432 429 79711 Ty
+=F SiF B FRE 4 513 508 17698 Ay
Z=H M THE BT AREH 4 435 439 72348 Ty
=7 BEBAHE B FRIE 4 520 514 15877 Ay
Z=H ZH SR BT AREH 4 470 435 75364 Ty
&7 s E FREA 4 507 507 18030 Xiksy
+=5 PEHE - FRIE 4 508 508 17698 XAy
=7 PEHE BT EREH 4 437 430 78993 Xikdr
Z=H R LES BT AREH 4 443 435 75364 Ty
=7 [IESEIE B FRE 4 511 509 17380 Ay
+=5 = - FRIE 4 521 516 15268 XAy
E=H == BT ARE 4 453 451 63923 kS
+=5 AR - FRIE 4 515 513 16185 XAy
E=H TREFEE BT ARE 4 419 419 87392 kS
E7 XHEENES - FRE 4 508 506 18346 Xty
E=H HEATE BT ARE 4 456 422 85026 kS
+=5 HiE - FRIE 4 507 506 18346 XAy
&3 wIHIE BT FRETH 4 441 436 74638 Xksr
+=5 DUEEE - FRIE 4 526 521 13833 XAy
+=F mHEH HT R ETH 4 425 420 86617 Ay
+=5 =E - FRIE 4 510 508 17698 XAy
| ERELEESTR HT FRE 4 423 422 85026 Ay
E7 BEERIETE BT FREH 4 431 426 78286 Xty
T HFESHHEF HT FoER 4 441 441 65860 Ay
x| eBEERESIE BT R 4 431 425 79598 XAy
+=F ETRESEA ET FoER 4 437 420 84317 Ay
+=5 BEIE BT R 4 449 436 69949 XAy
+=F PEE HT FoER 4 413 397 107787 | JCfksy
E7 IR grit BT R 4 446 408 96193 Xty
+=F FESITERZ HT FoER 4 422 417 87189 Ay
=3 | HERLHESTE BT R 4 426 396 108833 | Ctksy
+=F Lz HT FoER 4 433 421 83311 Ay
+=5 ETRETZ BT R 4 421 398 106704 | JCtksy
F5 HETTE BT EHAER 4 436 409 95121 ks
E7 EHIRLE BT R 4 441 431 74232 Xty
=7 mTRESTE BT FoER 4 418 401 103526 | 3Cfkdy




+=5 B4 BT R 4 414 400 104581 XAy
3 | HEEsEREEk HT FoER 4 429 422 82376 Ay
3 | RURARESEM BT R 4 420 415 89221 by
+=F Ekzilta HT FoER 4 440 434 71640 Ay
E7 Tt BT R 4 445 422 82376 XAy
=7 TATHE BT FoER 4 428 421 83311 Ay
+=5 Mz THE BT R 4 425 423 81424 XAy
+=F EYRE S5k ET FoER 4 462 462 50370 Ay
E7 THEEE BT R 4 421 409 95121 XAy
=7 BERE HT FoER 5 433 408 96193 Ay
&R BiE ET F4HAEH 4 429 426 78706 ks
+=F HHEE xE FoER 4 519 518 19883 Ay
+=5 EE xE R 4 518 518 19883 XAy
+=F =E xE FoER 4 529 524 17386 Ay
+=5 HiE xE R 4 524 518 19428 XAy
+=F EE HT FoER 4 419 406 98267 Ay
+=5 =it BT R 4 439 438 68285 XAy
+=F =it xE FoER 4 530 526 16609 Ay
+=5 THEH xE R 4 522 518 19428 XAy
+=F HEF2H585 xE FoER 4 524 521 18580 Ay
+=5 REFESEE BT R 4 421 400 104581 XAy
+=F Z5r54m xE FoER 4 525 522 18158 Ay
+=5 2554 BT R 4 416 407 97211 XAy
+=F THEE HT FoER 4 430 419 85219 Ay
+=5 = BT R 4 441 440 66645 XAy
+=F THEE xE FoER 4 525 523 17752 Ay
+=5 = xE R 4 530 530 15130 XAy
=7 BEEEHE xE FoER 4 527 527 16223 Ay
s TasEgEE sz FoHAER 4 523 521 18580 ks
+=F hEZ xE FoER 4 527 525 17002 Ay
+=5 TREFEE xE R 4 518 518 19883 XAy
+=F TR EE HT FoER 4 406 398 105636 |  JCtksy
+=5 PEHE BT R 4 445 435 70809 XAy
+=F PEHE xE FoER 4 521 519 19428 Ay
+=5 DUEEE xE R 4 548 532 14430 XAy
+=F [IESEIE HT FoER 4 428 425 79598 Ay
p. RrF L TE E AR 4 527 527 16223 pEiSy
=7 [IESEIE xE FoER 4 524 523 17752 Ay
=3 HIHIRE ET FAER 4 407 405 99275 s
+=F HLEATE BT FoER 4 425 414 90179 Ay
+=5 =E BT R 4 433 415 89221 XAy
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3| EFELEESER ET FoER 2 403 403 101427 | JCfksy
Ee EERIETE ET FE4HEH 2 410 406 98267 Xty
+=F R g HT FoER 2 405 404 100358 |  JCfksy
EH H=ETREE SEWE FREE 5 557 550 22023 XAy
=7 EREFS5ES SLUE A EE 5 563 553 21291 Xikdr
+=5 THEE SEWE FREE 5 562 555 20839 XAy
+=F BEEFIETE SLEWE FREE 5 563 546 23072 Ay
pog A g Eae e P e k4 2 519 518 79198 ey
E=H PEE P FRH 2 521 517 80365 kS
+=5 ETRETZ HrEE FRE 3 506 504 95445 XAy
&7 HEIE WER AR 2 497 495 106386 Xtk
E7 EHIRLE g AR 2 519 517 80365 Xty
R | NEETREREASE P Rk 2 529 523 73774 kS
Z=H Tkt = Rl 2 515 515 82588 Ty
T Btk g ALt 2 524 524 72721 Ay
E7 ENRESEA PEE FRE 2 539 537 59730 XAy
E=H THEEE P Rk 2 505 504 95445 kS
E7 HEE FEzE R 2 471 466 46835 XAy
=7 E5 P Rk 2 546 545 12487 Xikdr
E7 mEZ P Rl 2 538 536 15041 Likdr
=7 PEHE P ALt 2 518 517 80365 Xikdr
+=5 EEEE E¥ (@M=D FREFHBE 8 563.663 | 558.096 803 E&4
E=H EETE HEE Rk 2 530 524 72721 kS
+=5 B4 g EFHHE 2 496 493 109174 | JCtksy
=7 HESLE P AR 2 542 541 13585 Xikdr
E7 =E P Rl 2 534 533 15949 Likdr
E=H TARTE HEE Rk 2 516 515 82588 kS
+=5 =it g EFHHE 2 525 524 72721 XAy
=7 XHSENES P AR 2 521 521 19951 Xtk
3| EFELEESTR g AR 2 497 492 110450 | ICfkdy
T BEERIETRE g ALt 2 519 518 79198 Ay
E7 HarEEE P Rl 2 511 502 27841 Likdr
E=H HEATE HEE Rk 3 524 520 76982 kS
e 3 EESitERE ET 2R —#HE 2 509 503 144399 Ty
E=H PEE BT AR 2 493 492 163896 kS
x| eBEERESIE BT A 3 503 498 153160 |  JCtksy
=7 BTRESEAR HT p % 4 2 510 505 140854 Xikdr
v 5% EAR@D TAER AR 5 177 175 Flbsy
xRt R Giit = BT AR 2 498 498 153160 | JCtksy
E7 EHEE BT % = 14 2 501 495 158506 Likdr
| EERLHESTE HT P 3 494 491 165708 |  JCfk4y
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+=5 B4 BT A 4 2 492 491 165708 |  JCtksy
+=F mTRESTE BT AF 4 2 492 492 163896 |  JCfksy
Z=H rUlEkRESHk BT AR HE 4 2 501 494 160353 Ty
T Btk HT P 4 3 510 503 144399 | JCfksy
Z=H ITREEE BT AR HE 4 2 493 492 163896 Ty
=7 H=iE XE s S 4 2 540 540 28646 Ay
+=5 THEH - P 4 2 542 539 29286 XAy
E=H EEEREE B % e 4 4 2 541 540 28246 Xikdr
E7 == - IR 4 2 543 542 27428 Likdr
=7 ik oo B % e 4 4 2 541 539 29286 Xikdr
&R WETLE E AR H 4 2 545 543 26791 ks
=7 [TEENE HT P 4 3 502 497 154946 |  JCfksy
E7 EEEE #E @ ‘e EER 4 8 87.377 6. 043 440, 667
E =EF ZACD) EAER AR 4 5 169 168 4835 b4y
E7 FiEE ZARCO EARERAR 4 5 249 244 220 Ll 4y
=7 EREFS5ES B % e 4 4 2 540 539 29286 Xikdr
Z=H TARITE BT AR HE 4 3 493 492 163896 Ty
T F= ST R HT TEEREMAR 4 2 388 380 48370 ks
+=5 Bt BT TEEMEHMAR 4 2 386 298 80452 XAy
+=F REFERE XE TEEREMAR 4 2 427 425 8484 Ay
+=5 = XE TEEMEHMAR 4 2 430 427 8225 XAy
+=F == HT TEEREMAR 4 2 406 403 40334 Ay
+=5 DUEEE XE TEEMEHMAR 4 2 432 429 7965 XAy
+=F P AEETT EACD ZARERH AR 4 5 463.002 | 456.002 | 2149 a4
+=5 EARE EACD EARERF AR 4 5 461,102 | 456.202 2135 EE4
=7 mTRESTE BT TEEREMAR 4 2 315 298 80452 Xtk
+=5 PEHE BT TEEMEHMAR 4 2 386 357 57271 XAy
+=F SiF HT TEEREMAR 4 2 401 391 44435 Ay
+=5 MEATE BT TEEMEHMAR 4 2 340 317 73131 XAy
=7 RIRgrit# g R EE 4 2 500 496 82064 Ay
+=5 Bt g FREER 4 3 477 477 94563 XAy
=7 Tkt g R EE 4 2 508 498 80722 Ay
+=5 EEF g FREER 5 3 492 489 86617 XAy
=7 THEEE g R EE 4 2 501 481 91884 Ay
+=5 =E P FREER 4 2 495 492 23281 XAy
+=F == P R EE 4 3 509 507 18878 Ay
+=5 AR P FREER 4 2 504 503 20017 XAy
+=F A P R EE 4 2 514 504 19725 Ay
F=3 PEHE s FREE 4 2 504 503 20017 iksy
=7 RFLES g R EE 4 2 494 493 84010 Ay
EH EEEE =T | EEER (fEE) 4 8 525.5 521 2463 E&4




+=F HLEATE PEE R EE 4 3 497 495 82662 Ay
+=5 mTRESTE PEE FREER 4 3 505 478 93886 XAy
3 | EHERVHESTE PEE R EE 4 2 478 477 94563 Ay
E7 TATHE PEE FREER 4 2 500 498 80722 XAy
=7 BEBAHE P R EE 4 2 503 502 20284 Ay
E7 IR grit g FRHE (FED 4 2 504 472 108716 |  JCtksy
3 | eBEERESIE PEE ARHE (FE) 4 3 483 472 108716 |  JCfksy
R | EETEERE ST PrEE FRHE (FE) 4 2 505 480 100659 Likdr
E=H Tlkigit P ARHE (FE) 4 2 473 467 113809 Xikdr
Z=H TARTHE PrEE FRHE (FE) 4 3 469 466 114843 Likdr
FR BRE PrER FRHE GG 5 2 469 467 113809 | k4
E7 HiE P FRHE (FE) 4 2 483 481 27997 Likdr
=7 HHEE kS ARHE (FE) 4 2 476 476 30287 Ay
E7 BEBUAEE P FRHE (FE) 4 2 481 477 29847 Likdr
=7 E5 P ARHE (FE) 4 2 484 480 100659 Xikdr
E7 mEZ P FRHE (FE) 4 2 487 480 28455 Likdr
=7 TREEE PEE EFHE (F@) 4 2 465 451 130748 | JCfksy
E7 XHEENES P R (F8) 4 2 488 478 29365 XAy
=7 HESLE P ARHE (FE) 4 2 483 482 27534 Xikdr
Z=H R A LEE P FRHE (FE) 4 2 477 470 110696 Likdr
T | EelEESSEE e (g EFHE (F@) 4 5 657 655 SE&4
E7 RERE Th(ERH R (F8) 4 5 283.4 281.3 b4y
=7 ERE EF (R FRHE (BE) 4 5 302. 3 299.3 L4y
E7 EZ P FRHE (FE) 4 2 469 465 115908 Likdr
T FHLE g FFHE (FE) 4 2 464 460 121191 Ay
+=5 mTRESTE g R (F8) 4 2 462 453 128508 | ICtkdy
+=F PEHE sk FFHE (FE) 4 2 479 477 29847 Ay
3| EFELEESTR g R (F8) 4 2 459 459 122173 | kg
T EEeRIETE g FFHE (FE) 4 3 478 473 107740 | JCfksy
EH H=ETREE BT TEEEABTHAR 4 2 425 423 28897 ks
+=F PEE HT TEREB AR 4 2 419 418 30076 Ay
+=5 Lz BT TEEEABTHAR 4 2 436 424 28669 XAy
+=F BE#h HT TEREB AR 4 2 414 411 31902 Ay
=3 | HERLHESTE BT TEEEABTHAR 4 3 395 375 41453 XAy
=7 Tt HT TEREB AR 4 2 392 391 37079 Ay
+=5 Btk BT TEEEABTHAR 4 3 418 403 33968 XAy
+=F Mz THE BT TEREB AR 4 2 423 405 33431 Ay
+=5 =E XE TEEEABTHAR 4 2 468 467 5631 XAy
F5 HEE XE TREEABHAR 4 2 461 449 7448 fesr
+=5 EHEE BT TEEEABTHAR 4 2 401 385 38643 XAy
+=F == XE TEREB AR 4 2 476 461 6204 Ay




p. e = EEEAR HAR 4 2 464 447 7675 Ak
=7 HESLE B TEREB AR 4 2 476 468 5531 Xikdr
E7 mTRESTE BT TEEEABTHAR 4 2 389 386 38389 Xty
=7 TATHE BT TEREB AR 4 2 391 386 38389 Ay
3| EFELEESTR BT TEELHHAR 4 2 381 378 40329 Xty
=7 BTRESEAR BT TEEARTHAR 4 2 403 403 33968 Xtk
+=5 MEATE BT TEELHHAR 4 2 403 402 34223 XAy
+=F HESMAHE g TEELEH (WED) 4 2 514 502 125541 Ay
E7 FESITERE g TEELH WESR) 4 2 500 500 127538 | ICfkdy
=7 PEE g TEELEH (WED) 4 3 502 499 128535 | ik
R = PrEx | TEEEHWED 4 3 514 502 125541 | Ciesr
=7 EHIRLFE g TEELEH (WED) 4 2 527 520 107386 | ICfkdy
7 | NEEsERE ek PEE TEELH WESR) 4 3 510 500 127538 | ICfkdy
+=F Btk PEE TEELEH (WED) 4 3 505 501 126588 |  JCfk4y
E7 ENRESEA g TEELH WESR) 4 2 508 508 119495 | ICfkdy
=7 TATHE s TEELEH (WED) 4 2 499 495 132433 | JCfksy
E7 EEF g TEELH WESR) 5 2 512 497 130481 Xty
+=F EREFS5ES g TEELEH (WED) 4 2 508 499 128535 |  JCfk4y
Ee BEEAHE ik TEELEH (A2 4 3 530 526 28083 Xty
T E5 P FTEEEH () 4 2 528 524 29035 Xtk
E7 THEE P TEELEH (A2 4 2 521 519 31465 Xty
T TEEXZE P FTEEEH () 4 2 530 530 26284 Xtk
E7 RIF LEE P TEELEH (A2 4 2 522 518 31921 Xty
E=H [TEENE FsEzE TEEER (FEFR) 4 2 532 519 31465 Xikdr
F=F EEHTE Ty (g=s) EREREREAR (=) 4 8 507 505 649 EE4
+=F ERE ERFERE | SARIERER 2 4 5 199 191 931 b4y
=3 e ER(FER | EORIEREIARE 2 i 4 5 481 479 3348 EET
+=F WA AR ERFERE | SARIERER 2 4 5 480 478 8538 SE&4
Z=H MEATLE s FEEEE (IEE) 4 2 499 499 128535 Likdr
=7 ETEETZ PEE TEEEH (YED 4 2 498 498 129552 |  JCfksy
Z=H EBEIE PEE FEEEE (IEE) 4 2 497 497 130481 Likdr
+=F BTRESEAR i TEEEH (YED 4 2 501 498 129552 |  3Cfk4r
7 FIZ5THE P TEIEEE (IEE) 4 2 506 502 125541 kg
E=H #=iE sz FEEEH (FEH) 4 2 523 521 30452 Ay
=3 | EEElEEEEA g TEEEHE HEH 4 2 513 497 130481 Ak
+=F BEEFIETE L TEELE (ED) 4 2 498 497 130481 ks
Z=H HrrgEE FszE FEEEH(FEH) 4 2 524 520 31465 Ty
E BTRFESEA BT FE4HER 4 2 508 504 66808 Xtk
=R PR ET AR 4 2 498 497 73395 Xtesy
+=F Ekzilta HT FoER 4 3 500 499 71623 Ay
+=5 Mz THE BT R 4 2 507 504 66808 XAy




+=F Hi& HT FoER 4 3 496 496 74561 Ay
+=5 2554 xE R 4 2 531 529 16771 XAy
+=F == xE FoER 4 2 532 532 15506 Ay
+=5 THEE xE R 4 2 528 528 17188 XAy
+=F A xE FoER 4 3 535 531 15894 Ay
=R | HeikEHRSSESE ER TS i 4 5 90. 61 90. 06 b4y
y. HE TRFHTR) FAzEERH 4 5 524. 01 520. 58 EEL
x5 HEE ERFSTE FAzEER 4 5 521. 63 520. 74 EEL
+=F HLEATE BT FoER 4 2 501 498 72640 Ay
Ee ENRESEA ET FE4HEH 4 3 512 510 61243 Xty
&7 it BT FoHAER 4 2 501 500 70630 Xiksy
+=5 =E xE R 4 3 530 528 17188 XAy
=7 TATHE BT FoER 4 2 497 497 73595 Ay
£ | EEElEEsEk ET F AR 4 2 503 503 67750 oty
+=F HrEEE xE FoER 4 3 529 527 17639 Ay
+=5 AR xE R 4 2 528 528 17188 XAy
E =E AEE TN 4 2 524 516 9181 Ay
Ee mTRESTE g TR 4 2 452 447 68259 Xty
+=F HETEETZ PEE TN 4 2 458 453 65326 Ay
Z=H TARTHE PEE TEEARHET 4 2 452 451 66320 Likdr
+=F == PEE TN 4 2 513 508 40673 Ay
E7 EZ PrEE TEEARHET 4 2 499 499 44400 Likdr
+=F hEZ P TN 4 2 517 517 9045 Ay
+=5 £HE g SRR 4 2 500 490 48345 XAy
+=F A P TN 4 2 527 527 7725 Ay
E7 MLELTE PEE TEEARHET 4 2 75 461 61447 Likdr
T HFESHHEF HT P 4 2 446 440 27392 Ay
E7 FESITERE BT % = 14 4 2 423 419 33081 Likdr
E=H EETE BT AR 4 2 424 420 32783 kS
=3 | HERLHESTE BT A 4 2 75 360 51427 XAy
+=F b4 HT AF 4 2 408 361 51106 Ay
ZF | NEETRERESE BT AR HE 4 2 431 428 30558 Ty
T Btk HT P 4 3 424 406 36852 Ay
Z=H rUlEkRESHk BT AR HE 4 3 417 410 35683 Ty
=7 EYRE S5k HT p % 4 4 2 458 448 25324 Xikdr
+=5 BEHE BT A 5 2 423 387 42684 XAy
E=H THEEE BT AR 4 2 385 369 48492 kS
+=5 THEH - P 4 2 452 413 13928 XAy
ey =¥ XE P i 4 2 481 479 5673 paly
+=5 THEE BT A 4 2 412 381 44650 XAy
E=H == BT AR 4 2 451 450 24795 kS




+=5 DUEEE - P 4 2 479 478 5673 XAy
=7 TRFEE B % e 4 4 2 417 414 13783 Xikdr
+=5 PEHE - P 4 2 467 464 7292 XAy
E=H B LEE BT AR 4 2 377 367 49156 kS
Z=H MEATLE BT AR HE 4 2 421 411 35394 Ty
E=H th= BT AR 4 2 442 433 29233 kS
+=5 AR - P 4 2 470 463 7411 XAy
E=H PEE BT AR 4 2 433 418 33373 kS
+=5 mTRESTE BT A 4 2 387 385 43376 XAy
+=F =it HT AF 4 2 442 434 28969 Ay
&R [EEE E AR H 4 2 467 446 9517 ks
3| EFELEESER HT AF 4 2 366 366 49484 Ay
+=5 HrEEE - P 4 2 425 417 13376 XAy
=7 BTRESEAR HT p % 4 4 2 421 417 33673 Xikdr
SR IR grit BT 1. 4 2 391 385 16306 XAy
TE = = BT AR 4 2 393 387 15897 Ay
SR EHEE BT 1. 4 2 390 384 16526 XAy
b B AR | HEEsERE A BT AR 4 2 389 386 16093 Ay
SR Btk BT 1. 4 2 390 388 15698 XAy
SR EYRE S5k ET AR 4 2 399 392 14918 Ay
TE = TLEENES E 1. 4 2 481 481 3764 XAy
TE = A xE AR 4 2 482 482 3702 Ay
SR PEHE xE 1. 4 2 481 481 3764 XAy
TE = HLEATE BT AR 4 2 389 385 16306 Ay
e BN =R | EERLREESTE BT 1. 4 2 384 384 16526 XAy
TE = E5 E AR 4 2 487 482 3702 Ay
SR £HE BT 1. 4 2 389 388 15698 XAy
SR EEeRIETE BT s 4 2 385 385 16306 Xtk
SR ETRESEAR BT 1. 4 2 388 387 15897 XAy
Hig E=H HETE BT AR—E 4 3 363 355 11594 Xikdr
| FH EHIRLE ET FH—5F 4 2 382 362 10582 Xty
Hig E=H == BT FH—F 4 2 393 386 7625 Xikdr
5. E7 PEHE BT FH—F 4 2 374 371 9384 XAy
Hig E=H EETE BT AR—E 4 2 376 361 10722 Xikdr
Hig Z=H ZH SR BT FH—F 4 2 368 364 10276 Likdr
HE E= BE#h ET EH—E 4 2 359 356 11439 ks
hE == HER&EFSHEE FEUE AL (FRD 4 36 507 498 171316 | JCtksy
hE = FESITERZ SEUE EAE (FFD 4 32 512 500 167108 |  JCfksy
hE HESUASE FEUE A (FRD 4 40 527 514 137097 | XCfesr
hE = RIRgrit# FEUE EAE (FFD 4 36 511 502 162553 |  JCfksy
hE == HEE FEUE AL (FRD 4 49 517 506 154200 | JCtksy




3 | eBEERESIE FEUE EAE (FFD 4 24 514 500 166865 |  JCtk4y
+=5 BTRESHA FEUE AL (FRD 4 49 513 502 162478 | JCtksy
=7 BEIR FEUE B (D 4 34 516 503 160900 Xikdr
+=5 = FEUE AL (FRD 4 39 524 508 149622 | JCtksy
T th=2TESTZ FEUE EAE (FFD 4 35 503 496 177779 | JCtksy
+=5 HETFE FEUE AL (FRD 4 25 500 494 183020 | ICtksy
+=F s FEUE EAE (FFD 4 36 518 510 146073 |  JCfksy
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